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Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. gNfe FF 57 KNG ‘Q'V/VW fac Fe
Candidates should answer in their own words AR TS ©IT T2 TGT *FNIA T
and adhere to the word limit as practicable. s PRI
GROUP-A

Tont-3

1. Answer any ftwo questions from the following: 3x2=6
=TS @-cieat 76 @esw Teg wies

(a) In Ricardian framework, what would be the nature of gains from trade if
traded goods are non-substitutes in consumption?

T 3ifien wreeE Afderra el *RrsR Sefsgsmeg 2@ Sesifes ey
(R 2N TS PO (T 2T 9

(b) What is Metzler Paradox?
(EEAICE FOISTIH FICF 0T 9

(c) What is trade indifference curve?

Jifdes el e & @i 2
(d) What is Dumping?
Tif*ork FeTCe 5 Q@I 9

(e) What causes exchange rate to change?

R e sifeSr FRa & 9

2. Answer any one question from the following: 9%1=9

e @-@IE 9t 2via Ted wies

(a) Establish a one-to-one correspondence between commodity price ratio and 9
factor price ratio in absence of factor intensity reversal.
Teslwa-frfioet Redroyien SPEfere a@e M Seee ¢ THAmits
VTR S2IT0 S Q6 72 QAT | — 2 Il |
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(b) What is meant by Leontief Paradox? Give two possible explanation of this
paradox.

fermibrcra Forer F@1ce 6 @ici ¢ 92 ForoNeR 1 7Ry il 7ie |

(c) (i) What is meant by protected trade?
kAR Aiftes FIE ¢ 9

(i1) Explain the effect of protection on gains from trade in presence of a
negative externality in production of exportable.

N @ TR CFGT AT AT ToifRfere e wee
ey (ACF Al 7S [FeiR eeife 2@ A FE!

3. Answer any one question from the following:

e @-@IE 9 2eia Ted wies

(a) (i) Define and derive offer curve.

ey &I @2iE FRE! 1S 8 (@ foihoe T
(i) What is meant by elasticity of offer curve? How import demand

elasticity and export supply elasticity are linked with offer curve
elasticity?
e ewR @R FEoEHTel we T @ ¢ SsmAE SifEnee
Efogrieel ¢ AR @himTe fEegrmel ww qiffer e¥R @9
SRR i e e

(b) (i) Explain the concept of factor intensity reversal.
Tesiive Miiwer Rivdtoyer «ielS i F@i)

(i1) Do you think that incomplete specialisation is a necessary condition of
the factor price equalisation theorem? Assuming absence of factor-
intensity reversal explain the condition.

ooyl fRCarel & Seofial, SAMISETR Frefd Soioiwioa eel) SER =S ¢
Teriive g Kooy el Sieifze 4oa i w e |

(c) Derive foreign trade multiplier without and with repercussion effect.
R Jifey @i Rt ereRaim ¢ weFie e Fat
(d) (i) Show that investment multiplier in an open economy is usually
different from that in a closed economy.
e A Y@ TLNOCT SO el AT Az LR[S BT A
DA 7JAF 2R AUCF |

(i1) Determine the value of balanced budget multiplier in an open
economy.

& SIS0 SREIN ACSH BT N ey el |
(e) (i) Analyse the partial equilibrium effects of tariff and import quota.
SRR SRP SRER S @%@ v fuEer weree [Kose
N
(i1)) When shall the effects of these two be equivalent?
TR T U SoF Z(A 9
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GROUP-B
faetal-2
4. Answer any two questions from the following: 3x2=6
PR @GRl 715 @ioe T e
(a) State problems of defining ‘income’ for tax purpose.
I O C TRl i Tpiie T setoal el

(b) Explain the grounds for government intervention in a market economy in
the case of primary education.

e wLIfeT T el REwewg IR 2ReReR e i F @

(c) What are the characteristics of public goods? How does it differ from that
of private goods?

TR TR QAR [ 6 ¢ @Rl ai@E @E (@ Qe el fone ¢
(d) Define the concept of revenue deficit in a government budget.
I S “rerg qof dienfbe el fefael weat
(e) Compare between tax-finance and loan-finance of government expenditure.
TR AR W@‘{?&K"M CF(q 4 8 A \PeTNETR CeTIDT R

5. Answer any one question from the following: 14x1 =14
=i @-Fiet 96 eltia Teg wies
(a) Critically explain the ability to pay approach to taxation. Is income an 10+4

adequate index of ability to pay taxes of an individual?
Y IR O] YRS TR e (ofe i i sl fes
WY e 9 emitTa oI A9 IS 2

(b) “An indirect tax imposes an ‘excess burden’ compared to a direct tax of 14
equal yield”. Do you agree with this view? Give reasons for your answer.

I AErE RFA AOTF FEE QAR ARF I S @RI R @ @R
wiEeE AL i & yase ¢ Te 19i0 Ife wie)

(c) Compare the effects of a unit tax with those of an equal yield ad valorem 14
tax on equilibrium price and output under situation of perfect competition
and monopoly.

o4 eifsraifel g GFEHHA FRRIEE CFT SRPI) SER T #/fid ¢
T TR T 9% fofes e T e ey [iXE Tesma
‘-\MJ&I%@ A PETRPCET ST TP NICSTD ] PCAT

(d) Write short notes on the following: 7+7
Tievs Raefer T ke Gl wieais
(i) Balanced Budget Multiplier
HIH1S [« ACET @IF
(i) Lindahl’s Equilibrium for optimal tax sharing.
SN FASIC (0T Lindahl SR |
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